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Note: Attempt any five questions. Internal choice is indicated.

Q1. Answer any five parts: (3x5=15)

‘fﬁfﬂmwthathmg.,u[[aﬂ:]“ —a%)/x]=1/[2() %]
For any two sets A and B, prove that AN (A'UB)=ANB

(c) The cost of producing x units of a commodity is given by the formula

C(x)=p+qx2 Find C’(x). What is its economic implication.
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Q4. lﬂ( demand curve of a monopolist is given by p = (100 - x) / 4. (8)
{8’ Find Total Revenue and Marginal Revenue Functions.
(i) Marginal Revenue when x = 0 and x = 18.
yng.d elasticity of demand at x = 18 and verify the relation
MR = AR (1 - 1/e), where e denotes elasticity of demand, MR
denotes Marginal Revenue and AR denotes Average revenue.

(b) Total Cost of a manufacturer is C = 5000 + 1000q - 500qg? +(2/3)q 3(7T)
(i} Find Marginal Cost Function,
(ii) Find the expression for the alupe of Marpnnl Cost Function.
(iii)Find Average Total Cost Function.
(ivjAt what value of q does MC = AVC.

OR
a) » defined fma]lxbyf{xhx*ﬂﬂfﬂ]x* -6x+ 10 - (10)
Wdthepomtncwhertf (¢ ) =0 and determine the intervals

r‘_y)h the function increases.
“[1) Find the inflection points for f.

(l_a} Findif ~AAB- ~(AV B)is a tautology or not. (5)
Q6. (a) For what values of a and B, the following system has a unique, no or
several solutions: - (109)

() 2x+3y=7 (M) 3x-(a+1)y=2p-1

2ax+ [ﬂ + ﬁ}jr- 28 lﬁfx._ﬂ ‘ﬂdlg-aﬂ
(b) Find the value(s) of x so that m‘--“ wing: ]
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